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1) (15 Points) A current amplifier has an input resistance of
300[€2], an output resistance of 50[k2], and a current gain of
50[dB]. Find the transresistance amplifier that would be

equivalent to this, and draw it.
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9) (30 Points) In the circuit given below, fort < 0, theré is an
amplifier, a source and a load. Then, when the switch is closed at

t=0. A 100[kQ] resistor is added as feedback.

a) Find the input resistance seen by the source fort <0, if p = 20.
b) Find the output resistance seen by the load fort < 0, if u = 20.
c) Find the input resistance seen by the source fort> 0, if p = 20.
d) Find the input resistance seen by the source fort>0,as a

function of p.
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Room for Extra Work - Problem Q) Continued
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3) (20 Points) Find the voltage gain, v /v;, for the circuit given
below.
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4) (20 Points) Find the voltage gain, vo/v;, for the circuit given
below.
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5) (15 Points) Find an expression for i. @
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